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B 5.1. WHDOWEZ > TROfEZ KD S\,
(1) log, 8 =log, 2% =3
(2) logs 81 = log, 3* = 4
(3) log, 64 = logs 27 = log, 2° +log; 3% =6 + 3 = 2
(4) logg 18 + logg 12 = log(18 x 12) = logg 6% = 3
(5)

21
5) log; 21 —log, 3 = log, (3) =log,7=1

(6) logg 125 —log, 10 — log, (

_ logy 125 log, 10
~ log, 8 log, 4

)

1 1 1
—log, 1072 = 3 log, 5° — 2 log, 10 4 2 logy 10 = logy 5

& 5.2. XOAD WM TIEFE 2Bz RO LI,

(1) logy 3+ 2 = log,
log, 3 + 2 = logy 3 + 2log, 2 = log, 3 + log, 22 = log,(3 x 4) = log, 12
(2) logz 5 — 1 = logs

5

Evhilog,a=1%9, b=>bxlog,a=log,a’.

PSEE 5.3. log, 3= 04771 £ LT, UTFORICER RSV,

(1) 37 IAIHF DB DR D 7% X 1o,
logyo 37 = 7x0.4771 = 3.3397. 2% 1) 37 =103397 L HiF 3, 103 < 1033397 <
10* TH 206, 3TIFAHTOETH 2 (FBRIC 37 = 2187).

(2) 30 AIMHTDE DR D% S W,
logy3°0 = 50 x 0.4771 = 23.855. 23 <log,,3°0 <24 &b, 3°0 % 24 HTD¥K T
b5,

EVRNIIEOB AP HITHE L, 1071 <A<I0" DD ETH S,

ZOEEEICET B
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